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ADDITION OR SUBTARACTION BY 
A (+VE) OR A (-VE) QUANTITY 
DOES NOT MAKE ANY 
DIFFERENCE

MULTIPLICATION OR DIVISION 
BY A (+VE) QUANTITY DOES NOT 
MAKE ANY DIFFERENCE

MULTIPLICATION OR DIVISION 
BY A  (-VE) QUANTITY DOES NOT 
MAKE ANY DIFFERENCE

ADDITION OR SUBTARACTION BY A 
(+VE) OR A (-VE) QUANTITY DOES 
NOT MAKE ANY DIFFERENCE

MULTIPLICATION OR DIVISION BY A 
(+VE) QUANTITY DOES NOT MAKE 
ANY DIFFERENCE

MULTIPLICATION OR DIVISION BY A  
(-VE) QUANTITY INQUALITY 
CHANGES THE SIGNS IN THE 
FOLLOWING SCHEME:

>  <
 



(10,0)

(0, 10)



IS THE LINE PASSING THROUGH ORIGIN (0,0)

YES

TAKE ANY POINT AS TEST POINT 
WHICH IS NOT ON THE LINE

IF THE STATEMENT IS 
TRUE THEN SHADE 

THE PORTION WHERE 
THAT ASSUMMED 

POINT LIES

NO

PUT x=0,y=0 IN THE INEQUALITY

IF THE STATEMENT IS TRUE 
THEN SHADE THE PORTION 

WHERE THAT POINT(0,0) LIES

IF THE STATEMENT IS FALSE 
THEN SHADE THE PORTION 
WHERE THAT POINT(0,0) IS 

NOT PRESENT

IF THE STATEMENT IS FALSE
THEN SHADE THE PORTION 
WHERE THAT ASSUMMED 

POINT IS NOT PRESENT



DRAW A BOLD LINE IF THE 
INEQUATION HAS AN 
(,) SIGN

DRAW A DOTTED LINE IF 
THE INEQUATION HAS AN 
(>,<) SIGN





(10,0)

(0, 10)



(10,0)

(0, 10)



 SHADE THE AREA WHICH IS 
COMMON FOR ALL THE 
EQUATIONS.

 SHADE THE AREA FOR EVERY 
INEQUATION WITH DIFFERENT 
PATTERN/COLOUR.





(0, 5)

(5, 0)

(0,-3)

(3,0)


